
1. Let the walrasian equilibrium be denoted by [𝑝, (𝑥ℎ)ℎ∈𝐻 , (𝑦
𝑗)

𝑗∈𝐽
]. 

Assume, towards a contradiction, that it the allocation does not have the core 
property. Then, there is a coalition 𝑆 and an allocation and production plan 
(𝑥ℎ′)ℎ∈𝐻 , (𝑦

𝑗′)
𝑗∈𝐽

  such that for all ℎ ∈ 𝑆 we have 𝑢ℎ(𝑥ℎ′) > 𝑢ℎ(𝑥ℎ) and such 

that ∑ 𝑥ℎ
′

ℎ∈𝑆 = ∑ 𝜔ℎ
ℎ∈𝑆 +∑ 𝑦𝑗′

𝑗 . 

  
In equilibrium, due to the CRS technology, profits must be zero and 𝑝 ∙ 𝑦𝑗 = 0 for 
all 𝑗.  

Moreover, due to utility maximization, it must be that 𝑝 ∙ 𝑥ℎ
′
> 𝑝 ∙ 𝑥ℎ = 𝑝 ∙ 𝜔ℎ  

(due to zero profits and LNS) for all ℎ ∈ 𝑆. 

But then, summing over ℎ ∈ 𝑆, 𝑝 ∙ ∑ 𝑥ℎ
′
> 𝑝 ∙ ∑𝜔ℎ and , 𝑝 ∙ (∑ 𝜔ℎ

ℎ∈𝑆 + ∑ 𝑦𝑗′
𝑗 ) >

𝑝 ∙ ∑ 𝜔ℎ
ℎ∈𝑆  i.e. 𝑝 ∙ ∑ 𝑦𝑗′

𝑗 > 0 = 𝑝 ∙ ∑ 𝑦𝑗
𝑗 , contradicting profit maximization in 

equilibrium. 
 
2. a) The set of Pareto efficient points will be 𝑥1 ∈ [0,3], 𝑦1 = 2.  
 

b) Individual demands for 1 are 𝑦1 = 3 −
1

4𝑝
, 𝑥1 =

1

4𝑝2
 , if prices are positive. 

2 will consume all wealth on good x if prices are positive. But then no 
equilibrium exists with positive prices. If the price of y is 0, then the price ratio is 
+∞. But then 1 will want to consume infinite amounts of y.  

 
c) For a price ratio of +∞, agent 1 will want to consume infinite amounts of good 
𝑦. Therefore, even though the initial endowment satisfies the expenditure 
minimization problem, it does not satisfy the utility maximization problem; 
therefore, a quasiequilibrium with transfers need not be an equilibrium with 
transfers. Note that the assumptions of the second welfare theorem are not met.  
 
3.  



 
 

4. a) Efficiency would require all cars to be traded (1.2q>q for all q). 
Adverse selection causes inefficiency. If all sellers took their cars to the 
market, the WTP would be 0.6 and that would lead sellers of cars with q>0.6 
to leave the market. The process continues (the WTP would always be 0.6q 
for the q fraction that remains in the market), until no car remains. 
 
b) (See solutions for MWG 13.C.1) 
 





 



 
 



 
 



 
 



 



 



 


